

# Ferguson Enterprises, Inc.

To: Ryan Jorgensen

From:

Pages: 1

Phone: [REDACTED]

Date:

07/25/2018

Please sign the authorization form below and email it back to me so that we may process your order.

I, JEFFREY EPSTEIN authorize Ferguson Enterprises, Inc. to charge my  
(print name)

Visa

MasterCard

American Express

Discover

Amount \$ 33,448.40

Card # [REDACTED]

CVV # [REDACTED]

Expiration Date: [REDACTED]

Signature of Card Holder: [Signature]

Billing Address: 9 E 71st

NEW YORK, NY 10021

WOULD YOU LIKE US TO SAVE THIS CARD ON FILE FOR

FUTURE PURCHASES?  YES  NO



FEI-58TH STREET #2625  
 150 EAST 58TH STREET  
 NEW YORK, NY 10155-0092

Phone: 212-688-5990  
 Fax: 212-593-0446

Deliver To: From: Ryan Jorgensen Comments:
--

18:27:41 JUL 24 2018

Page 1 of 2

FERGUSON ENTERPRISES INC #501

Price Quotation  
 Phone: 212-688-5990  
 Fax: 212-593-0446

Bid No: B988933  
 Bid Date: 07/23/18  
 Quoted By: RJJ

Cust Phone: 212-971-1306  
 Terms: CASH ON DEMAND

Customer: JSC INTERIORS LLC  
 575 LEXINGTON AVE  
 4TH FLOOR  
 NEW YORK, NY 10022

Ship To: JSC INTERIORS LLC  
 6100 RED HOOK QUARTERS  
 B3

Cust PO#: DORNBRACHT

Job Name:

Item	Description	Quantity	Net Price	UM	Total
D20713892060010	=FAUCETS= CCY 3H LAV MXR PLMA 1.2 GPM ---	4	1902.030	EA	7608.12
D3641697906	=SHOWER SET UP= -TRIM- CONC TSTAT PLMA	4	1442.040	EA	5768.16
D3631089206	WM VOL CNTL TRIM PLMA ----	8	268.460	EA	2147.68
D35517970900010	-ROUGHS- XTOOL TSTAT ROUGH L/ VOL CNTL	4	1197.360	EA	4789.44
D35621970900010	1/2 WALL VLV CW CL ----	8	132.490	EA	1059.92
D2801497906	-HANDSHOWER ON BAR- *0618 CCN 2.0 3F H/SHWR *IMO MTPL	4	203.490	EA	813.96
D2670189206	SLDBR PM PLMA	4	1074.870	EA	4299.48
D2810497006	REINF HOSE 49-1/4 PLMA	4	153.450	EA	613.80
D2845062506	3/8 WALL ELL PLMA	4	244.290	EA	977.16
D35080970900010	1/2 STRT FEM 1/2 NPT MALE RI ADPT ----	4	32.290	EA	129.16
D28505979060010	-SHOWER HEAD- CCY 1.8 5F SHWRHD MTPL ----	4	401.400	EA	1605.60
D8350089206	=ACCESSORIES= =TP HOLDERS= TISSUE HLDR PLMA ----	4	423.860	EA	1695.44
	>DORNBRACHT IS MANUFACTURED IN GERMANY<				

Net Total: \$31507.92  
 Tax: \$1940.50  
 Freight: \$0.00  
 Total: \$33448.42



FERGUSON ENTERPRISES INC #501  
Price Quotation

Fax: 212-593-0446

18:27:41 JUL 24 2018

Reference No: B988933

Quoted prices are based upon receipt of the total quantity for immediate shipment (48 hours). SHIPMENTS BEYOND 48 HOURS SHALL BE AT THE PRICE IN EFFECT AT TIME OF SHIPMENT UNLESS NOTED OTHERWISE. QUOTES FOR PRODUCTS SHIPPED FOR RESALE ARE NOT FIRM UNLESS NOTED OTHERWISE.

CONTACT YOUR SALES REPRESENTATIVE IMMEDIATELY FOR ASSISTANCE WITH DBE/MBE/WBE/SMALL BUSINESS REQUIREMENTS.

Seller not responsible for delays, lack of product or increase of pricing due to causes beyond our control, and/or based upon Local, State and Federal laws governing type of products that can be sold or put into commerce. This Quote is offered contingent upon the Buyer's acceptance of Seller's terms and conditions, which are incorporated by reference and found either following this document, or on the web at [REDACTED].  
Govt Buyers: All items are open market unless noted otherwise.

LEAD LAW WARNING: It is illegal to install products that are not "lead free" in accordance with US Federal or other applicable law in potable water systems anticipated for human consumption. Products with "NP" in the description are NOT lead free and can only be installed in non-potable applications. Buyer is solely responsible for product selection.